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RS TID | REEUESA BRIl FoORk 29 | E S gk 30 AR BE
K3k Py A % 75%i | ¥ WA E 75%fiE
=) [ A Jtro] 12,712 = 100 L1 ]o9] 12712 = 100] 0.9
FIR)I©2) Al ER B .31 12,712 = 100l .5 1o 12712 = 100] 1.0
I & H 16 A Jo7] 1212 = 100 0.9 Jo.6] 12 712 = 100] 0.7
S AONIEER A o7 12,12 = 1000 0.7 o6 12712 = 100] 0.6
I T (2) = HikE A .ol 12712 = 100l .oJ1o]| 12,712 = 100 1.2
AN ELRES A Joe] 12712 = 100] 0.6 |<0.5] 12 712 = 100] <0.5
DI AONEE SR A Joe] 12712 = 100l 0.6 Jo.5] 12 712 = 100] 0.5
MEJI| F vk G A Jo7] 12,712 = 100 08fJos6] 12712 = 100] 0.6
REJI(2) iR i A 1711012 = 83 1.9]11] 11712 = 92| 1.2
N A J1ro] 12,712 = 100 .e Jo.8] 12712 = 100] 0.8
AHEI(3) TKIBE A Joo] 12,712 = 100 Lofos] 12712 = 100] 0.8
R ES S A 1ol 12 712 = 100l 1.2 Jo.8] 12 712 = 100] 0.8
HEJI B [ZE5E AA [<0.5] 12 712 = 100[<0.5)0.5] 12 712 = 100] 0.5
MERE A o5 12 712 = 100/ <0.5]0.5] 12 712 = 100[<0.5
YN A Jo7] 12,712 = 100 09]os6] 12712 = 100] 0.6
HEJITFW |G A Josg[ 12,712 = 100 .1 o8] 12712 = 100] 0.9
WEE A Jo7] 12,712 = 100 08fJoe6] 12712 = 100] 0.6
B A Jog] 12712 = 100 0910l 11 712 = 92] 1.1
gy /\Eifﬂ‘é A Jos] 12,712 = 100 0505 12712 = 100] 0.5
Y A Jo7] 12,712 = 100 05]06] 11711 = 100] 0.5
)1 TS B Joe]| 11711 = 100 0.5 J0o.6] 10,710 = 100 0.5
A Eye - gwmsmssma | A o7 12712 = 100 0.8 Jo.6] 12712 = 100] 0.6
IR NS A Joo9]l 10712 = 83 09fose] 12712 = 100] 0.6
KA — & B |24 9,10 = 90] 2.8 ]1.8 8,/ 8 = 100] 2.3
EE) R | =5 AAJo5] 12712 = 100[<0.5]0.5] 12712 = 100] <0.5
ST e A Joe| 12,712 = 100 0.6 Jo.5] 12 712 = 100] 0.5
JETE)| el AAJo5] 12,712 = 100] <0.5[]<0.5] 12 /12 = 100 0.5
H s H A Joe| 12,712 = 100 0.6 Jo.5| 11 711 = 100] 0.5
SHI < H AR A Joe] 12712 = 100/ <0.5]0.5] 12 712 = 100] <0.5
[l ) | 1 A A Jo7] 1010 = 100l 0.8 Jo.7] 12 712 = 100] 0.7
K| S ] A A o7 12,12 = 1000 0.8 Jo.6| 11 711 = 100] 0.6
FAH) 1 iR i A 1112712 = 100 .2o7] 12712 = 100] 0.8
AR [N s A o712 712 = 100 0.7 o7 12 712 = "100] 0.7
Fosk)l X8 A lo05] 12 712 = 100[<0.5]0.5] 12 712 = 100] <0.5
T | FIR KB A |<0.5] 12 712 = 100] <0.5]<0.5] 12 /12 = 100] 0.5
EE EE A Jo7] 12712 = 100 0.7 o8] 11711 = 100] 1.1
I EE A Jos] 11711 = 100/<0.5]0.5] 10710 = 100] <0.5
J\H]JI NG A |11 9 /11 = 8] 1.8 ]1.1 9,9 = 100] 1.4
B JNE RS A 0.6 9, 9 = 100] 0.6 Jo.5] 1010 = 100 0.5
+Rfi)1 TRl A Josg| 12,12 = 100 .o]o7| 12712 = 100] 0.7
| KA A Jos] 12,712 = 100/<0.5]0.5] 12712 = 100] <0.5
‘= I A [<0.5] 10710 = 100[<0.5]0.5] 11 711 = 100] <0.5
FHEAI AN A Jos] 1111 = 100[<0.5]05] 11 11 = 100] 0.5
)51 ) S A Jos]| 11711 = 100f[<0.5]05]] 12712 = 100]<0.5
KFE)| I G A Jos] 12,712 = 100/<0.5]0.5] 12712 = 100] <0.5
& )1 Follkic A Josg| 10,10 = 100 .oJoe| 11 711 = 100] 0.6
== Bk A [<0.5] 12712 = 100[<0.5]0.5] 11 711 = 100] <0.5
=2 ik A o6l 12 712 = 100 0.8 J0o.5] 11 711 = 100] <0.5
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b COD {) (WA : mg/L)

B HTITD | BREEMESS G| I D4 29 A g N 53 30 F 5
K3 U BEEZ] FIEEES %] E S T5%E
RS (1) NN N A 2.4 2,/ 6 = 33] 2.8 2.3 2,/ 6 = 33] 2.6
25 Hh 5 A 2.1 4, 6 = 67| 2.1 2.1 4, 6 = 67| 2.2
B (2) XX g e A 2.0 3,/ 6 = 50 2.4 2.0 3,/6 = 50 2.2
FE L ZE I HUE A 2.3 2,/ 6 = 33[ 2.7 2.0 2,/ 6 = 33 2.6
R AW A 1.7 6/ 6 = 100] 1.7 1.7 6,/ 6 = 100] 2.0
s 5l 5 A 2.2 2,/ 6 = 33 2.5 1 2.0 3,/ 6 = 50 2.2
B H) A B 4.3 0,/ 12 = o] 4.4 3.8 2/ 12 = 17] 4.2
faf &% I |HPORES B 4.3 0,/ 12 = o[ 5.0 3.7 2/ 12 = 17] 4.3
15 L o B 3.8 0,/ 12 = o] 4.0 3.4 3,/ 12 = 25| 3.7
EE A 2.2 1,/ 4 = 25 2.4 1.9 3,/ 4 = 75 2.0
Aok W A A 1.9 3,/ 4 = 75] 2.0 2.0 3,/ 4 = 75| 1.7
B A 1.8 3,/ 4 = 75 1.7 2.0 3,/ 4 = 75 1.5
1L B BRI A 1.6 4,/ 4 = 100] 1.6 1.7 4,/ 4 = 100] 1.9
TR A 1.7 4/ 4 = 100] 1.9 1.8 3,/ 4 = 750 1.7
IELLE 5 0 A 3.4 1,/ 12 = 8| 3.8 2.9 1,/ 12 = 8l 3.3
T B A 3.9 0,/ 12 = ol 2.4 1 3.7 0/ 12 = ol 3.9

c EEFZBFROEHE ()

(2%ER) (WAL - mg/L)
AL I | REBEERYESL $H S ik 29 s 3 S ik 30 s &
K3 i N3] R ¥ R

Al B 5 0.24 5,/ 6 = 83 0.28 1, 6 = 67
BRS (7)) [MEs L I 0.22 1,/ 6 = 67 0. 20 6, 6 = 100
LY 0.23 9,/ 12 = 75 0.24 | 10 /12 = 83
X g EHIIE 0.14 6./ 6 = 100 0.17 6/ 6 = 100
SR () FELRZEER L Il 0.16 6,/ 6 = 100 0.17 6,/ 6 = 100
SE¥ 0.15 | 12/ 12 = 100 0.17 [ 12 /12 = 100
VLR 4 0.12 6,/ 6 = 100 0.13 6,/ 6 = 100
IS O S =R =Ty I 0.22 5, 6 = 83 0.19 5,/ 6 = 83
LY 0.17 | 11 /12 = 92 0.16 | 11 /12 = 92
7 W) 1A 0. 56 1.,/ 6 = 17 0. 52 0, 6 = 0
[ S A II 0. 39 2,/ 6 = 33 0.28 1, 6 = 67
T I Hi 5 0.31 5,/ 6 = 83 0.32 4, 6 = 67
LY 0.42 8 /18 = 44 0.37 8 /18 = 44
%5 03 0.21 5,/ 6 = 83 0.19 6/ 6 = 100
IS V5 B II 0.25 5, 6 = 83 0. 29 5, 6 = 83
¥ 0.23 | 10 /12 = 83 0.24 | 11 /12 = 92

(40) (BT : mg/L)
B G TID | BREAES4 $H - Ak 29 A BE D A% 30 H &
KA i B2 S S FREES

A B 5 0.019 6,/ 6 = 100 0. 022 5,/ 6 = 83
BRS (7)) [MEs L om [0.018 5,/ 6 = 33 0.019 5,/ 6 = 83
RS 0.019[ 11/ 12 = 92 0.021 | 10 / 12 = 83
XX g B 0.011 6,/ 6 = 100 0.015 6/ 6 = 100
e () LR ZEER L o |o0.013 6,/ 6 = 100 0.014 6,/ 6 = 100
SE¥ 0.012 ] 12/ 12 = 100 0.015 | 12/ 12 = 100
VLI Hi G 0.010 6,/ 6 = 100 0.012 6,/ 6 = 100
IS O S =R =Ty m [0.015 6,/ 6 = 100 0.017 5,/ 6 = 83
RS 0.013[] 12 /7 12 = 100 0.015| 11 / 12 = 92
7 W) 1A 0. 034 4,/ 6 = 67 0.031 4,/ 6 = 67
[ A I |0.028 4,/ 6 = 67 0.021 5,/ 6 = 83
T TR HG 0.023 5,/ 6 = 83 0. 027 5,/ 6 = 83
N5 0.028| 13/ 18 = 72 0.026 | 14 / 18 = 78
25 03 0.016 6/ 6 = 100 0.017 6/ 6 = 100
IS 75 B II 0. 024 5,/ 6 = 83 0. 032 4,/ 6 = 67
¥ 0.020 | 11 7 12 = 92 0.025 | 10 ~ 12 = 83




d W, /=17 /)—VEOLAS OKEAEDOEEIT/RDEREEYEEAD) (7))

(2= dEn) (HSAZ : mg/L)
RS TILD | mEEYES4L G pi| oopk 29 S gk 30 A BE
K4 NS WA R WA E
s Eocts 0. 003 2,/ 2 = 100] 0.002 2,/ 2 = 100
well TE) |1 24 £ B 0. 004 4,4 = 100] 0.003 4,4 = 100
) B (D) PUTRE A Al 0.001 12 /12 = 100] 0.001 2,12 = 100
)RR () [EH S B | 0.002 2,2 = 100 0.003 2,/ 2 = 100
B R (1) Ek% AHB | 0.002 2,/ 2 = 100] 0.003 2,/ 2 = 100
B T (2) = = RIE B | 0.010 4,4 = 100 0.011 4,4 = 100

[ 0. 004 4,4 = 100] 0.004 4,4 = 100

; N NSPN 0. 004 2,/ 2 = 100] 0.002 2,/ 2 = 100
AL £ KIE B 0. 002 2, 2 = 100] 0.003 2, 2 = 100
EREIEERS 0. 004 4/ 4 = 100] 0.003 4/ 4 = 100

HEJI B |2 AR AL 0.001 4, 4 = 100] 0.001 4/ 4 = 100
HER 3 0. 002 4/ 4 = 100 0.002 4/ 4 = 100

DVNELS 0. 002 2,/ 2 = 100] 0.002 2,/ 2 = 100

HEJITR |2 G B [ 0.002 2,/ 2 = 100] 0.002 2,/ 2 = 100
W ERE 0. 002 4,4 = 100] 0.001 1,/ 4 = 100

BB 0. 002 2 /92 = 100] 0.014 2 /2 = 100

(=) 7= )—)L) (B7 : mg/L)
BFRH I | mesiuess G pi| S mk 29 AFE BE S mk 30 AFE BE
K4 NS WA E R WA E
w)l] Eocts HmB <0.00006] 2 72 = 100<0.00006] 2,2 = 100

VE) |48 24T <0.00006] 4 4 = 100<0.00006] 4,4 = 100

B)ILER Q) PUTFRE A | 0.00008 4,4 = 100[<0.00006] 474 = 100
)RR () [EH S B [<0.00006] 2 2 = 100]<0.00006] 2.2 = 100
B R (1) Ek% A B [<0.00006] 2 2 = 100 <0.00006| 2, 2 = 100
)T (2) = s B [<0.00006] 4,74 = 100[<0.00006] 4.4 = 100
[ <0.00006] 4,4 = 100]<0.00006] 4,4 = 100

; N NSPN <0.00006| 2. 2 = 100} <0.00006| 2 2 = 100
AL £ KIE B <0.00006] 2.2 = 100[<0.00006] 2.2 = 100
RS2 <0.00006] 4 74 = 100[<0.00006] 4 74 = 100

BRI By |28 A 1<0.00006] 4 74 = 100]<0.00006] 4 74 =100
EZS <0.00006] 4 74 = 100[<0.00006] 4 ~4 =100

DYUNELS <0.00006] 2.2 = 100[<0.00006] 2.2 = 100

HENTR  [FERE £8B [<0.00006] 22 = 100[<0.00006] 2.2 = 100
W ERE <0.00006] 4.4 = 100[<0.00006] 4.4 = 100

B <0.00006] 2 72 = 100<0.00006] 2 72 = 100

(LAS) (HA7 @ mg/L)
ST | megikuess | wm R 29 O 30
K4 1) WA ) W A&

e )l| Eorts AR <0. 0006 2,/ 2 = 100] 0.0006 2,/2 = 100
VE) |18 =24 <0. 0006 4,/ 4 = 100] <0.0006 4,/ 4 = 100

SIS AONUNSEN S AW AL 0.0007 4,/ 4 = 100] <0.0006 4,/ 4 = 100
B)ILER Q) [EHE A8 B | <0.0006 2,/ 2 = 100] <0.0006 2,/ 2 = 100
IR AOMIEERS AB | 0.0006 2,/ 2 = 100] 0.0008 2/ 2 = 100
RO EiS EBB | 0.0006 4,/ 4 = 100] 0.0010 4,/ 4 = 100
iR 0.0011 4,4 = 100] 0.0025 4,/ 4 = 100

. NP N 0. 0007 2,/ 2 = 100] 0.0007 2,/ 2 = 100
AT R En B 0. 0007 2 /2 = 100] 0.0006 2 /2 = 100
el ER <0. 0006 4,/ 4 = 100] 0.0006 4,/ 4 = 100

HEJILER  [Z5E A A | <0.0006 4,/ 4 = 100] <0.0006 4,/ 4 = 100
ER <0. 0006 4,/ 4 = 100] <0.0006 4,/4 = 100

DYUNELS <0. 0006 2,/ 2 = 100] <0.0006 2,/ 2 = 100

HEJITR  [SEEE £ B | <0.0006 2,/ 2 = 100] <0.0006 2/ 2 = 100
ERE <0. 0006 4,/ 4 = 100] <0.0006 4,/ 4 = 100

B EJIE <0. 0006 4 /4 = 100] <0.0006 4 /74 = 100




